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'DATA ENTRY OPERATIONS (Theory)

COACHING 21eT Ut Hener (fagia )
(336)
Time : 2 Hours ] [ Maximum Marks : 40
FHY ; 2 YU ] [ T’ﬁﬁ : 40
Note : All questions are compulsory and carry marks as indicated against each question.
frdor:  weft v atframd € den Geifvd i ol WA 6 W Sifed RS T €
1.  Fill in the blanks of the following : Y2x10=5
frefafaa % fog fea wom 91
(i) packages are the application that are developed to meet the specific
requirements of an organization.
Hga FaeT TF G i fafre sawEw@s # qu & fae
ferenfaa fore =i €1
(ii) There are types of elements inside the text box in a slide.
T TS § TR FiA & ALK THR F T ¢ |
(iii) An URL indicates where the webpage is stored on the et i
3 AR U, 38 M 1 A0 HLl & 5@l R 9 U GUEd @l 2
(iv) We can log on to computer or to network through screen.
T HE W A S H Gehd € A GRA % W 9 J2ad W
(v) Word Processing Software is a software which falls under packages.
I AT (Word Processing Software) HITea?R T FRaa € Sl
Gl & AT S |
(vi) The page of Website is called a homepage.
IS JerTEE H B TS Feww €|
(vii) By default files gets downloaded in the folder of the user system.
fewiee &9 | Wi T % Hieet § TEAAIS 8 I gl
(viii) An example of interactive web page is
$afHd 39 U F T STE T
(ix) monitors are also known as flat panel monitor.
i off Wiz Te F w9 H S S
(x) The program written by the programmer in high level language is called
____ program.
drTeR g fofad 399 W (high level language) #1991 FEHH F
SR |
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2. State True or False : 15x10=5
FE 1 T Fam ¢

(i)  Chatting is a real time communication application of internet.
A7 e F & ardfas qHa HIR STHEE 2 |

(i) When you start a Computer system, Start and Taskbar appears on the top of the
Screen.
WA Y TF FI YOI TE F ¢, A W (Start) 3R TR S F I T FH
BT

(iii) It is possible to specify mathematical relationship between the numbers using the
formula.

7% g § Iwm genst ¥ dru g way w1 ffde F9 F fo gaa
(iv) All data fields of a data source should be used for mail merge.

F1 T2 Hid F wfl T2 Biegd Al 7Sl F fou 3w fohan St e |
(v) Packets are never reassembled at the receiving end.

Them Ff ff TR F Fg W fadacs 7@ 24 €
(vi) The cell address B1 denotes column B and Row 1.

¥l 313 Bl Hieid B 3T U 1 1 fe@mn 21
(vii) CRT monitors looks like a TV screen and works in the same way.

CRT iy, et whi =i e fawd! & it 3¢t awe | M FTd ¢ |
(viii) Mouse is an Input Device.

HIE T 3792 fearsd 2|
(ix) Under Edit Menu you can rename the file.

Hured (Edit) 37 % ded &9 HI5e %1 78 aeel Fehd ¢ |

(x) It is not necessary to give password to protect a file from reviewers.

Tg giflerhi ¥ TF WEd F & F0 F o e 3 % fau smavas 1@ 2

3.  Define the following terms : (any two) 1x2=2
(a) Spreadsheet (b) Recycle bin (¢) Task bar
= wisa) w1 uftsren &Y | (FaRdi =)
(a) HENie (b) TarEsa fom (c) < @R

4.  Write short notes on the following : 2x5=10
(a) Rulers . (b) Input Devices

(c) Components of E-mail address (d) Line Charts
(e) -~ Steps to insert a text box in a slide

freafafaa = oy Ak fod . ;
(@) T (b) 3TYe feamz@
() 3-Ha % =WeH (d) A AR

(e) TS TS H U TR didd |itAferd hid & felg FgH
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Differentiate between the following (specify two differences in each) :

(a)
(b)
(©)

(d)

(e)

Sum () function and Sumif() Function
Telnet and FTP

Application Software and System Software
Main Document and Data Source
Windows Explorer and Control Panel

Frfefad & e s (v 3 gt sim fifde)

()
(b)
(©)
(d)
(e)

Sum () %R 3 Sumif() FMH
e 3R FTP

UETHM \ieaar iR fowy giwean
& SEIES 3R 221 Ha

Answer the following :
What is page formatting ? List any 3 features/ options used for page formatting 4

(a)

and explain any 2 features/options in details.

2x5=10

(b)  Based on the following data, find the values of the expressions : 1x4=4
A B C D
1 10 29 40 2
2 40 8 20 1
3 10 9 13 100
4 11 1 12 7
i) (C1/2*D1)/A1 (i) A2+(D2/2+C3)

(iii) (Ad+ B4)/((C4/2)-3)

Freafafad &1 3w 2 .

(iv) ((A1-B4)+C1)/((C4/2)+B4)

(a) WWW%?W*ﬁ3§ﬁWﬁ/WW%WWMﬁWﬁ
@waﬂtﬁmmﬁm%ﬁzghmaﬁ/ﬁmaﬁwmaﬁﬁqu
(b) ﬁnﬁ@am%wmﬁaﬁ%mmﬁﬁq:

A B C D
1 10 29 40 2
2 40 8 20 1
3 10 9 13 100
4 11 1 12 7
@ (C1/2*D1)/A1 (i) A2+ (D2/2+C3)

(i) (Ad+B4)/((C4/2)-3) (iv) ((A1-B4)+C1)/((C4/2)+B4)
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